Grade 8 Math PRACTICE Test
Percent, Ratio and Rate ¢wes

Part A: Selected Response (1 mark each)

Paf{"g“ % Name:
m\o\\e ~ oo

1. What percent is represented by the shaded region? mQ inq/

A) 30%
B) 30 5%

D) 30.015%

2. What is 0.62% of 310?
o S T
D) 192.2
3. What percent is 3 out of 750?
P4
A) 0.004 % __3_ =
B) 0.040 % 100
0.400 % S0
D) 4.000 %

4. Calculate. 240% of what number®36?

36 _ 240

B) 86.4 = ==
C) 276 X \0O
D) 864
P-W
5. What decimal is equivalent to 12:8?

A) 1.4 (2
B) 2.0 — = \.5

3

‘op - hottom

M0 = 3600

ETT A

dec ""\C‘\



6. The ratios @:16 and 5:2 are equivalent. Find the missing number.

A) 23 x: b 2%'—@
B) 80 5:2 '5_‘ 2

X=40

7. Ajar has 10 red candies, 6 yellow candies, and 12 blue candies. Describes
the ratio of the number of red candies to the number of yellow candies to the
number of blue candies, expressed in lowest terms?

B) 526 10: 012
C) 6:10:12
D) 10:6:12 5:3: 6
8. The ratios below are for different colors of paint. Which ratio of liters of
white R?_iréto liters of blue paint will create the lightest shade of blue?

A) 1:6
B)3:9 (-3
4 O-)|:‘L-

9. Write the part to part ratio 5 : 7 as a part to whole ratio.

513 =1L
B3 2 .
C)7:5 5112
D) 12:5

10. Which represents the part to whole ratio of 2:5?

A)mmoooon
B O
C) mmmmmODO

D)ymmooooooo

7.

10.



Part B: Constructed Response — Answer all questions and show all workings.

1. Complete each conversion. All fractions must reduced to lowest terms. (6 marks)
o/ -
A) Change Z % to a decimal: D 45 /D - OOO}S

B) Change 0.003 to a percent: 0. 30/0

55 _ A
C) Change 0.55to a fraction: 10 — 2.0
3.5
D) Change % to a decimal: l L}
E) Change Z to a percent. ‘.7-5 /o
-0.00% X_

F) Change 0.7 % to a fraction 1 000

2. A test is marked out of 75. If you scored 60%, how many marks did you get on your test? (2

marks) - SDD /
Part 2% ? '% u‘m %ourectwed 490t
wWhole Loo 6(' '.}5 N ‘50\)[‘
X _ 60 XK= 15 Yest
35 ~ 100

3. A big box of Smarties has six thousand five hundred candies in it. What percent of them are
blue if there are only 13 blue candies in the box? (2 marks)

fotal = 62006 B _x

Rlve =13 300 100
percent = (300% =1300 S 0.8%
6500 6500

par-1
4. A survey was conducted and it was found tha&l185 people)loved the Boston Bruins. If this was

95% of the people asked, how many people were asked? (2 marks)
Wneed to Find the Whoel&

(85 _9S
~x jO0O

18500 Roout (49 people
q%; as were osked .

= = |q4.T



% chanaQ=E“f'“ .Or-nqmalj <100
original
5. With the recent drop in oil prices, the average price of a house in Corner Brook changed to
$250,000 from $280,000.
N o

A) Is this an increase or decrease? (1 mark)

Decrease

B) Find the percent change. (2 marks

250 000 - 220000 -30 000 = ~6.\0}]x100
- - xla0 =
Yocharge ™ im0 % = 230000 031%

= 710. 0

The percent decregge 1S \0 F\%

6. In forty games, Sally had twelve hits. How many games did she play to get 100 hits? (2 marks)

:l(O -- l\o'z (2. 12
c\\m\\ A= %3?’ 2
Mok R:6

7. There are 96 students going on a school trip. If the ratio of boys to girls is 3:5, how many of

the students are boys? (2 marks)

BI +0+C\l - gg

3 :?5 %‘ 273_ 30 Sludents are boqs.
x .

RX‘~3¢§

8. If a truck travels at 110 km/h, how long will it take to run 575 km? (2 marks

A : e (00x =515 Tt will toKe SA5hs,
100 ¢ | 00 |00

S x=6as




9. A case of 24 Pepsi at Walmart costs $7.97. What is the unit price? (2 magks)

cans: ¥ 24yx=3.9%F T .
_ = = he umt price
27 ': w 24 7 1S 303§/cm
=% =0.373

10. Anna bought gasoline for her trip and she paid $27.44 for 11.2 liters. In a nearby community
Becky paid $82.41 for 33.5 liters. Which person got the better deal? (3 marks)

Jona 4974411121 Becky~ 992413351
gaup/L X

f242/L X1 . -
- g > Amaig qekd; 1354
Lo - % The he$§cr ol\\eqa\ 15 35
\l. b{CQUQQ ‘H\e Pr‘ct _ aqg
‘X-_ ’ZK\_L ?er /-Ll ’cy( \& CkPOPOP 7\- .

11. A race car driver can drive an 800 km race in 2.8 hours.

A) How long would it take her to drive 150 km, rounded to the nearest tenth of an how?
emrk) Qoo - 2-hr T8 will dafe her
[soKm " X 6.5 hrs

g0 Ox = 420 )
X ee x. = ().925

B) How far will the race be if it takes six hours to complete? (2 mar

Rookm = 2 Rhy The tace 15
X .6 1314 3%AKm
2.8% = %00
28 2R

X=\HY T



